
 

A. Vanya and Fence 

Zadanie z Codeforces / Div. 2 / A  
 

Zadanie pochodzi z platformy Codeforces: 

https://codeforces.com/problemset/problem/677/A  

 

 
 

Example 1 

Input 

3 7 

4 5 14 

Output 

4 

  

https://codeforces.com/problemset/problem/677/A


 

Example 2 

Input 

6 1 

1 1 1 1 1 1 

Output 

6 

 

Example 3 

Input 

6 5 

7 6 8 9 10 5 

Output 

11 

 

Note 

In the first sample, only person number 3 must bend down, so the required width 

is equal to 1 + 1 + 2 = 4. 

In the second sample, all friends are short enough and no one has to bend, so the 

width 1 + 1 + 1 + 1 + 1 + 1 = 6 is enough. 

In the third sample, all the persons have to bend, except the last one. The required 

minimum width of the road is equal to 2 + 2 + 2 + 2 + 2 + 1 = 11. 

 


